
  



 

 

 

 

 

 

 

gFjp II 
 

01. (a) 

i. 0.75 =  
75

100
=  

3

4
   

 

0.5 =  
5

10
=  

1

2
 

 
ii. 0.75 + 0.5 = 1.25 

 
iii. Fk; Gk;         ,U ml;ruq;fSk; ,Ue;jhy; → 2 Gs;sp 

xU ml;ruk; ,Ue;jhy; → 1 Gs;sp 

 

iv. 
2

8
 <  

4

8
 my;yJ 

4

8
 >  

2

8
 ,uz;L Kiwapy; vJthf ,Ue;jhYk; Gs;sp 

nfhLf;fTk;. 
 

v. 
2

3
+  

1

6
  

4

6
 +  

1

6
 

5

6
 

 

vi. 
5

7
 −  

3

7
=  

2

7
  

 

vii. 
4

8
          

6

12
  rupahd ,U tpilfSf;Fk; → 2 Gs;spfs;. 

rupahd xU tpilf;F → 1 Gs;sp. 

 

(b) 

i. rupahd cUtpw;F → 1 Gs;sp. 
 
 
 
 

ii. 
1

3
 

 

 

1 

1 

1 

1 

1 

1 

1 



 

 

02. (a) 

i. fUk;gyifapd; ,U tpspk;Gfs; re;jpf;Fk; ,lk;. 
,U Rtu;fs; re;jpf;Fk; ,lk; Nkir xd;wpd; tpspk;Gfs; re;jpf;Fk; ,lk;. 
 

rupahd ,uz;L tpilfs; → 2 Gs;spfs; 
 

ii.      1. nrq;Nfhzk; 
2. $u;q;Nfhzk; 
3. gpd;tis Nfhzk; 
4. $u;q;Nfhzk; 
5. Neu; Nfhzk; 

 rupahd xU tpilf;F → 1 Gs;sp 

 

(b) 

i. fhupahyak; / tpisahl;L ikjhdk; (,uz;L tpilfspy; xd;W rupahapd; 
Gs;sp toq;Ff.) 
 

ii. fpof;F 
 

iii. <rhd 
 

iv. fpzW 
 

03. (a) 

i. kPl;lu; Nfhy; 

ii. mb kl;lk; 

iii. msT ehlh 

(xU ntw;wplj;jpw;F → 1 Gs;sp) 
 
(b) 

i. (a) 1𝑚 75𝑐𝑚 = 175𝑐𝑚 

(b) 156𝑐𝑚 = 1𝑚 56𝑐𝑚 

(c)  1.8𝑚 = 180𝑐𝑚 

 

ii.    

 

(c)  48𝑐𝑚    8𝑚𝑚 + 48𝑐𝑚     8𝑚𝑚 + 48𝑐𝑚     8𝑚𝑚 

 = 146𝑐𝑚     4𝑚𝑚 

 

(d)     ePsk; 3.6m 
 mfyk; 2cm 

rupahd tpilf;F → 1 Gs;sp 
 
 
 
 
 
 
 
 
 

1 

1 

1 



 
 
 
 

04.   
i. a) 456   125  013 

b) ehD}w;W Ik;gj;jhW kpy;ypad; E}w;W ,Ugj;ijahapuj;J gjpd; %d;W. 
 

ii. 36 my;yJ 100 - Xu; vz;zpw;F xU Gs;sp 
 

iii. 15 + 6 = 21  
 

iv. 456 125 013 − 2 856 312 = 453 268 701  
 

v. 36 × 100 
3600 

 
05. a)  

i. rJuKfp  
 

ii. a.  fdTU 
b.  06 

 
b)  

i. 9𝑘𝑔 250𝑔  
4𝑘𝑔 200𝑔 
 

ii. 500𝑔  
 2𝑘𝑔 430𝑔 
 

06. a)  

i.    6 
 

8 
 
   10 
 

ii. 30 
 
b) 

i.   
 

ii. Gjd;  
40 
 

iii. jpq;fs; 
tpahod; 

2 

2 

1 

2 

1 

1 

1 

1 

1 

2 

2 

2 

2 

1 

1 

1 


